R 148 R RV BAART AR R-KE s fe
- ﬁgm%#q
FOEF Sl TR RS o
=S S ERil Fis | 4R G S
g | BaEgr | Lz Es | kR
AR F R 1 2 1/16 1/20 36
L 1 2 2/36 36
SRR A
1.7 N Fkrr
21 go HEEE 3 H] & e
F%%-{- 33 L7 N i 2 A z
7 ) TV w o la|ule s |7 R R
Bl 6 | 5| 5|65 5 1 6
i Ea 0| 1 [2[0|1] 2 1 2
N A ETATLANE Y
F 111
g 1|1 |1 1 1
o [EE 4 | 4 | 4 | 4| 4| 4 1 4
T Ak 303 3] 3 1
ol 2El3 |3 303 |1 9
e e 6
e 6 | 3|3 3] 3 1
FEES 2 | 2 2 | 2 1 2
REEWMT(REKT ~HT) 3 133 (3|3 3 2 5
CEE ST S 20 | 25 | 26 |20 | 25 | 26 29
ARG R (2R 1| 1] 2 1 2
sr [BRF R (E € ) O 1|1 1 1
N 2-4 | 3-6 | 4-7
EE WS SRS ) 1] 1] 2 2 3
2
HrA D K(EEL PR 1|1 ] 1 1 1
o 22- | 28- | 30-
ERNE NS 4|31 133 | 23]29| 32 36
Fo S RRIIRFF FRGK 36




BRI FALARKT P F
2 W7 38 FFELTER (T B EHP)

AR AL P & #c/ FoEPER (/T B e T
(==K ey
R 1 )23 e 3 e
(47) - #
2% (4 ) 1 g B
2.4 3T FRFL
PRAT R #p # )l w) fedkid ok
FE = 3/A 5
RER 4/A 3
B3 = 4/B 3
B3 = 5/A 5
2R
5 FE = 56/B 2
ES
; e g 3/A 4
/34 4/A 2
£/ 34 4/B 3
#wg 5/A 4
£/ 34 56/B 2
N BoR T RATR AL g H T 345/C 1
# PR D RAR B A s (F
= ® 15/C 1
i L
BT PR EE DR 45/C 1
FTRFLEF & TR 88K 36

(] MR e RF > MEni ke ¥ FEAIEST WEFF T4




3.ARE
REFRZwe gl

Wi g +#
/g4
s

4
it
ria

5
CJ
g

P 2wy
= 3
B i SIRBE FRE




